
Lightning Racer 
Split your group into two smaller groups and answer the  
following questions: 

1. Group 1: Find the average velocity of the green train  
over the 1036 m long track. (Hint: see Appendix B.) 

 

 

 

Group 2: Find the average velocity of the red train over the 1036 m long track. (Hint: see 
Appendix B.) 
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<12: 

 

 

 

3. How is it physically possible for one car to beat the other, assuming the cars and tracks were 
=*1,0(18'2017%,,):((>1+'(%0(,'%-0(0<"($"--1=,'(&'%-"2-. 
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Assume that the trains have no velocity at the top of the hill. 

 


